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Derivatives of the o-Function
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Product Rule
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Unit Step Function u(7)
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Derivative of the Unit Step Function
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Derivative of the Unit Step Function
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Fourier Transform for o(¢)
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Fourier Transform for o(¢)

1 o
Show that S(t)z—j e’ do

i @
—1 1 © Jjot 1 * Jjot
(1) =F"[I1=— [ le"do=——| ¢*dw
27 7 21 o
The integration Zi ooej(”tda)converges to O(1)
Tc —0o0

in the sense of generalized function.



Fourier Transform for o(¢)
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Two ldentities for o(7)

o(y) = l_rocos xydx
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These two ordinary integrations themselves are meaningless.

They converge to d(t) in the sense of generalized function.



